2017 (A)

SSC PART-l (9th CLASS)

WOOD WORK (NEW SCHEME) (2015-2017 %)

TIME ALLOWED: 1.20 Hours SUBJECTIVE J&lL» 120 =

MAXIMUM MARKS: 32 32

1l
'ﬂi

NOTE: - Write same question number --?-E';Jjufq._{.é-lffﬁé‘gE?JJﬂf!HJJl/‘:?LJIFLﬁJ{LEEL}'ﬁ Y

and its part number on answer book, as given in the questiocn paper.

SECTION-l =

2. Attempt any five parts, 10=2x5
(iy  Write benefits of WWood Seasoning.
(iiy VWhatis Bow Saw and write its use?

(i)  Write parts of Firmer Chisel

g felelinigle 3 2 A

L N E B S

‘.":I-_JT-" i’u"}: .--'."_i.r"-'.ﬁ; Tiahg! W

(i
(if)

L L sl (i)

(iv) Write the use of T-Square -,_,r:’l‘._,‘bﬁ'fh"?j-'d (iv)

(v) Define Triangle S EIP L )

(vi) What is Half Joint? ‘“r_t'vr..-"‘“‘...i[.r {wi}

(vil] Write note on the following:- W W Sedibar (il
Coping Saw LLT._;.EE' (ii) Covetail Saw & U{:: ()

(viii) What is Shrinking of Wood? Write a short note. i e (il

3. Attempt any five parts. 10=2x5
(i)  Whatis Scotch Tape? Write ils use,
(i) Defina Inside Calipers and Outside Calipers.

Write the characteristics of Deodar Wood

-ﬁ{{_ﬁ;— lf.ﬁ.l?lé!;-:; iy -EjfUlr

_L,r"“dw*-fufﬁ YleE

- fl:.'z".-:--é,f";.‘li.gﬂ‘k UJ&;‘!'J,@E J_.u,il

(i)
(1)

-uff{-':'.::“-*:.-;_fJLE'}_: » (i)
(iv) Write four parts of a Tree, -u:’"'?'l:; L T ()
{(v) Write note on Compass Saw. ey S ()
(vi' What is Sap Wooc? Where t is used? Fo wix,,_,'l.="5"r-h,'L_+f ﬂ'.«l-_:l_,fk-:.:_i.'fq'j-.-

(vii) What s Bevel Edge Chisel?

SECTION-II o

NOTE: - Attempt any three questions. 12=4x3

{'L't-l Lj;_!’; 4 I.-"-h!r-n' f

(vi)
(wii)

_ggfagiﬁﬁaﬂifufadf i

4. Writz the importance of Drawing in detail -u';';j-J"i‘:.&'-r.ﬁ'bj -4

5. Whatis Exogenous Wood? Write its kinds in detail Ur.fl: ; u;.,_,rl “r-.L-,_:_fL g -5

8. Whatis Zigzag Ruler? Write its use in detall i ;f' A T (gt -6

7. Write in detail about Push Type Saw. LA e NS GRS 7

8. Write note on the fo'lowing topics:- 7 :_.:z s 2B
(i Pincer (i) Live Knot 260 (i) 55 (i)
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PAPER CODE 2017 (A) QEZ 4 A

SSC PART-l (9th CLASS
NUMBER: 1991 PART- | )

WOOD WORK (NEW SCHEME) ( 2015-2017 &% ) (%) Kz
TIME ALLOWED: 10 Minutes OBJECTIVE (&> 210 =
MAXIMUM MARKS: 8 8= ¥

A | .-J;L:ruﬁl:,ilz':‘;:t'ﬁff-_,hﬂ’:.f.urr_ u‘fLJhchf:{_JﬁilriJh’ﬁ{Lé{d‘ﬂ _L_.{-"E:;’_'_.- D.C:B A .::Lli;—a.rké:.._.l'rﬁ _d
Ut bl fA eSS 54 Bubbles Bl 2t S S Sek o L Ditkie L1 2
Mote: You have four cholces for each objective type guestion as A, B, Cand D. -._[.,f:;q_,“';’:;-m!rr{.g{,.glr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
te fill the elreles. Cutting or filling two or more circles will rasult in zero mark in that question. Attempt as
many guestions as given in objective type question paper and leave others blank. Mo credit will be awarded

in case BUBBLES are not filled. Do nol soive guestion on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

{1) In Urea precess, _ urea is used in a drum of water, -UQEL‘F';J{.J:&IH’: ;h-*jl.rcé;l—_-fbd:-;—t::ii": (1)
(A) 10 kg (B) 5 kg (C) 7 kg (D) 15 kg

(2) The colour of hard weod is:- -etnkbsier (@)
{A) Black J'i.-jlr (B) Rec ,_,.-r {C) Green _» (D} White &

(3) Marking tools are used for:- _.f_r?g._ﬁ;,_|Lti*!;;|yl_=_-l-' hd_ gl (3)
(A) Measuring ..:'_ijj':l:-? (B) Cutting & L2 ¢
(C) Punching L L. /% (D) Marking <& &€

(4) Dovetall saw is used for:- e Oreg T s ()
(A] Mortise and tenon joint J2d A4 (B) Scarf joint JaJt-
(C) Dado joint J#:x: {D) Dovetail joint :f,"f.»i

(5) Shape of protractor it like English alphabets:- e qe Fgy ALy (5)
(A} D (B) K {C) Q (D) G

(6) Sum of four angles of a quadrilateral is:- s l:r,.pf"?.b”._,:,:ﬁjuu E-':-JJ‘G; {8)
(A) 1207 (B) 18009 (C) 3609 (D) a0°

(V) Kinds of Drawing Paper are - ,._,LF!#JIJ':EE'._;LS {7)
(A) 3 (B) 10 (C) 4 D) 5

(8) Fibres of hard wood are:- a2 L8 (B)
(A) Thin & (B)Zigzag £ ¥  (C)Straght £ 4~ (D)BothBandC U C ol B
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OBJECTIVE KEY FOR SSC 0~ & 9" Examination, 2017.
Name of Subjeet woed wiedK Session 15— 2217
(). | Paper | Paper | Paper " Paper
' Nos, | Code | Code | Code | Code
| H?f -— = =

L g | ——

2: A —T—
|8 =1 |-
= = ____,,_F-——=——;
R s il
6 [l ._‘—-I——-—-—Hn

f: D ____.-!-——-—-ﬁ-h

8 B __,_._.-i-—————-—H

9 \ .._-—--]'-'—__“—'-'

10. i

1.

12 X i
13 \\ k
14 \

15 \

16 \x

17. | \

18, | %
19. |
(20. | | | |
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